

# BSWM- BIDS AND AWARDS COMMITTEE SUPPLEMENTAL BID BULLETIN ADDENDUM NO. BSWM-2023-00-005-02

# CONTRACT: SUPPLY AND DELIVERY OF VARIOUS PROMOTIONAL MATERIALS FY 2023 - IB NO.: BSWM 2023-00-005

This **Addendum** is being issued in accordance with **Section 22.5.2 of the IRR of RA 9184**, to clarify and modify some provisions of the Bidding Document. **THIS SHALL FORM AN INTEGRAL PART OF THE BID DOCUMENT.** 

A complete set of **Bidding Document** may be acquired by interested Bidders with a fee of Php 1,000.00 until **November 7, 2022, 3:00PM** from the BSWM, SRDC Bldg. Visayas Ave. cor Elliptical rd. Diliman, Quezon City

### **DEADLINE/SCHEDULE OF SUBMISSION AND OPENING OF BIDS:**

Deadline of submission of bid proposals is on November 8, 2022, 9:00AM.

**Opening of Bids is on November 8, 2022, 9:30AM** at BSWM Convention Hall and via videoconferencing (Zoom).

For guidance and information of all concerned.

**(Sgd)ENGR. EDUARDO V. ALBERTO** BAC Chairperson

## Supply and Delivery of various Promotional Materials for CY 2023

Item #	Item Description	Delivery Requirement	Quantity	Unit	Unit Cost	Total Cost
	GSITD 076 Regular	Kequii ement				
1	Polo Shirt	1st week of April	42	pcs	700.00	29,400.00
1	Details	13t week of April	42	pcs	700.00	29,400.00
	Materials: Honeycomb (good quality and					
	breathable fabric); 1 x 1 rib flat knitted collar;					
	double needle sleeve and bottom hem;					
	Necktape; 2-button placket, colorfast					
	Color: Two-toned; Navy blue and light blue					
	on the sides					
	Print: GSITD Logo (embroided)					
	Sizes:					
	Extra Large- 6					
	Large-12					
	Medium- 20					
	Small-4					
	SCMD 028 Regular/STO Cauayan					
2	Tote Bag	1st week of March	80	pcs	180.00	14,400.00
	Size: length-16inch; width: 13.4 inch			r		,
	Color: Navy blue					
	Printing: Sublimation print of two logos					
	Fabric: Canvass					
	to be delivered before the 1st week of March 2023					
3	DriFit Shirts	2nd week of June	250	pcs	350.00	87,500.00
	Color: Creamy White (100) Powder Blue (150)					
	Materials: 100% Polyester					
	Double Stitch sleeves and bottom hems					
	Design: Round neck					
	Printing: Sublimation printing					
	Sizes:					
	Extra Small- 5					
	Small - 35					
	Medium - 70					
	Large - 65					
	XL - 50					
	XXL - 25					
	to be delivered before the 2nd week of June 2023					
4	Baseball Cap	2nd week of June	150	pcs	300.00	45,000.00
	Material: Cotton (waterproof);			-		
	Main and inner fabric: Polyester (PES) 100%					
	Color: Black					

	Print: BSWM and SCMD Logo (sublimation printing)					
	Sizes: Adult size (adjustable strap)					
	SCMD 029 R&D Corn					
5	Field hat - with polyester and mesh fabric, the hat is comfy and breathable to wear, water-repellent, sunscreen, and windproof for filedwork activities; 360° Protection:  Detachable face cover and neck flap provides all-around protections from UV,dust, and saliva; Breathable & Moisture-wicking: Mesh fabric design on face cover and inner sweatband makes it breathable and moisture-wicking for daily wear. Versatile: Adjustable hood drawcord makes one size fit all.  Portable: Foldable and lightweight, it's convenient to car with BSWM Logo and Project Name (embroided)	2nd week of June	80	pcs	1,000.00	80,000.00
6	ARM SLEEVES (CUSTOMIZED)	2nd week of June	80	pcs	600.00	48,000.00
	Materials: 85 % Polyamide (PA), 14 % Elastine, 1 % Polyester Color: Black Size: One Size, Stretchable 1 pair Print: embroided	,		•		
	SCMD 033 Manila Bay					
7	Round Neck long sleeves	2nd week of May	150	pcs	500.00	75,000.00
•	Cotton blend: 70% cotton and 30% polyester (good quality and breathable fabric)	and ween or ray	100	pes	200.00	. 5,600.00
	Three buttons					
	Navy blue, colorfast With print of BSWM and Manila Bay Logo- embroidery					
	Sizes: S-10, M-30, L-75, XL-25					
8	Notebook (customized)	2nd week of May	150	pcs	200.00	30,000.00
	Spring Notebook, A5 size, 80 leaves, 70gsm, waterproof cover, with printed logo of Manila Bayanihan and BSWM	,				
9	Desktop Calendar	2nd week of May	150	pcs	300.00	45,000.00
	2024 Calendar	<u>,                                      </u>				
	A5 size with customized design					
	HILLPEZ 054 R&D Other/Regular					
10	Long Sleeve T-shirt	1st week of March	100	pcs	450.00	45,000.00
	Sizes: XS-10 pcs; S-20 pcs; M-25 pcs; L-20 pcs; XL-15 pcs; XXL-10 pcs.			_		
	Color: Green			l		

	Material: Any material appropriate for the printing method					
	Print: Sublimation					
11	Polycanvas Bag	1st week of March	100	pcs	150.00	15,000.00
	Size: H:15" x W:13" (260GSM)					
	1 Side Print					
	Print: Sublimation					
	Planning 073 GAD					
12	POLO-SHIRT	2nd Week of February 2023	600	pcs	800.00	480,000.00
	Promotional Items in Celebration of National					
	Women's Month					
	Color: Purple					
	with various color based on the design attached (LOGO)					
	Fabrics: 100 % Polyester					
	Sizes: XS- 30, S-109, M-174, L-158, XL-86, 2XL-34, 3XL-9					
	Print Type: Silk Screen Printing					
	Note: Subject to changes depending on further advisory from PCW. Additional designs/details will be added upon the release of the advisory.					
13	T-SHIRT (Round Neck)	2nd Week of October 2023	600		500.00	300,000.00
	Promotional Items for 18-Day Campaign to End Violence Against Women and Children (VAWC)					
	Color: Orange and White					
	with various color based on the design attached (LOGO)					
	Fabrics: 100 % Cotton					
	Sizes: XS-30, S-105, M-147, L-162, XL-85, 2XL-35,					
	3XL- 9					
	3XL- 9 Print Type: Silk Screen Printing					
	Print Type: Silk Screen Printing  Note: Subject to changes depending on further advisory from PCW. Additional designs/details will					
	Print Type: Silk Screen Printing Note: Subject to changes depending on further					

	Size: Length: 8", width: 2.54", Height: 6.2" with handle and strap with 10bot, holder inside; 8testtube holder inside; 6 holes test tube holder (foam) with 2 strip holder inside; 1 stick holder inside outside pocket with cover for literature; DA-BSWM logo in front with flat and firm base with water proof inside lining; Print: Silk Screen; Material Balistic					
	WRMD 013 INS Various					
15	Vacuum Insulated Stainless Steel Drinking Water Bottle with BSWM logo	2nd week of June	120	pcs	900.00	108,000.00
	Print Type: Submilation					
	22oz wide mouth w/ spout lid vacuum insulated					
	stainless steel drinking water bottle					
	Stainless Steel					
	Double-wall vacuum insulation					
	Premium powder coat finish					
	Leak proof drinking spout lid					
	BPA-free food grade lid and bottle					
	Easy carry wide handle					
	12 hours hot; 24 hours cold					
	Durable					
	Assorted color					
	With box					
16	Double Layer Inverted Umbrella with printed BSWM logo	2nd week of August	60	pcs	900.00	54,000.00
	Print Type: Submilation					
	Double UV protection, strong water repellent					
	Portable, easy to carry					
	C-shaped umbrella handle					
	Double layer, hidden umbrella frame, sun protection					
	and safety					
	Umbrella frame: fiberglass windbreak					
	Specifications: approx 62cm(24.41in)					
	Windproof: strong windproof					
	Weight: about 580 g					
	Sun protection: at least UPF50+					
	Style: Manual					
	Material: Pongee					
	Number of people: for 2 person					
	Color: green, blue, purple, wine red					
4.5	Outdoor Sun Cap Hat with Neck Flap with printed	2nd week of	400		F00.00	60.006.00
17	BSWM logo	November	120	pcs	500.00	60,000.00
	Print Type: Submilation	17 7				
1	Material: 100% high quality nylon			1		

				I		
	360°Protection: UPF 50+ wide brim hat with face &					
	neck flaps (flaps are removable)					
	Breathable Mesh Design: Both sides of hats are made					
	of breathable mesh panels					
	Lightweight & Packable: Rolled up					
	Washable & Quick-drying					
	Windproof & Waterproof: Hat is with adjusting					
	buckle and adjustable chin strap, and waterproof					
	material					
	Multiple Ways of Wearing: You can wear it as general					
	hat, windproof hat, neck protection hat, all round					
	protection hat					
	Size: One Size					
	Material: Nylon					
	Pattern: Solid					
	Features: 3 in 1					
	Style: Bucket Hat					
	Color : Grey					
	BSWM Logo: Printed (3cm x 3.5cm)					
18	Half-finger Ice Silk Sun Protection Arm Sleeves	2nd week of	120	200	400.00	40,000,00
18	with printed BSWM logo	November	120	pcs	400.00	48,000.00
	Print Type: Submilation					
	Fingerless design					
	Quick-drying and breathable					
	Icy sunscreen					
	With Palm anti-skid					
	Features:					
	Material: Ice silk					
	Color: Dark Blue/ Black/ Grey					
	Weight: 50 g					
	Function: Sun protection					
	Size: One size fits all					
	BSWM Logo: Printed (3cm x 3.5cm)					
	WRMD 025 INS Various					
19	Outdoor Sun Cap Hat with Neck Flap with printed BSWM and SWISA logo	2nd week of February	35	pcs	500.00	17,500.00
	Print Type: Submilation					
	Material: 100% high quality nylon					
	360°Protection: UPF 50+ wide brim hat with face &					
	neck flaps (flaps are removable)					
	Breathable Mesh Design: Both sides of hats are made					
	of breathable mesh panels					
	Lightweight & Packable: Rolled up		+			
	Washable & Quick-drying		+			
	washable & Quick-urying					

	Windproof & Waterproof: Hat is with adjusting					
	buckle and adjustable chin strap, and waterproof					
	material					
	Multiple Ways of Wearing: You can wear it as general					
	hat, windproof hat, neck protection hat, all round					
	protection hat					
	Size: One Size					
	Material: Nylon					
	Pattern: Solid					
	Features: 3 in 1					
	Style: Bucket Hat					
	Color : Grey					
	BSWM Logo: Printed (3cm x 3.5cm)					
20	Half-finger Ice Silk Sun Protection Arm Sleeves	2nd week of	25		400.00	14,000,00
20	with printed BSWM and SWISA logo	February	35	pcs	400.00	14,000.00
	Print Type: Submilation	-				
	Fingerless design					
	Quick-drying and breathable					
	Icy sunscreen					
	With Palm anti-skid					
	Material: Ice silk					
	Color: Dark Blue/ Black/ Grey					
	Weight: 50 g					
	Function: Sun protection					
	Size: One size fits all					
	BSWM Logo: Printed (3cm x 3.5cm)					
21	BACKPACK	2nd week of June	35	pcs	900.00	31,500.00
	Color: Black					
	Made of nylon					
	Masurements: L 35 x W 15 x H 48 cm					
	Interior: laptop sleeve, slip pockets and zip pocket					
	Exterior: front and side zip pockets					
	Padded adjustable shoulder straps					
	Grab handle					
	Padded back panel					
	Embroided BSWM and SWISA Logo					
22	Round Neck Tshirt	Zna week or Fobruary	1500	pcs	400.00	600,000.00
	Print Type: Silk Screen Printing	konruaru				
	cotton fabric					
	short sleeve					
	Multi Color : Apple Green and Black					
	With BSWM and SWISA Logo: Printed (3cm x 3.5cm)					

	XXL-100					
	XL-400					
	L-500					
	M-400					
	S-100					
23	Round Neck T-Shirt	2nd week of February	900	pcs	400.00	360,000.00
	Print Type: Silk Screen Printing					
	Cotton fabric					
	short sleeve					
	XXL-50					
	XL-250					
	L-300					
	M-250					
	S-50					
	BSWM and SWISA Logo: Printed (3cm x 3.5cm)					
	Based Color: Black, Side Color: Apple Green					
	Outdoor Sun Cap Hat with Neck Flap with printed	2nd week of				
24	BSWM and SWISA logo	February				
	Print Type: Submilation					
	Material: 100% high quality nylon					
	360°Protection: UPF 50+ wide brim hat with face &					
	neck flaps (flaps are removable)					
	Breathable Mesh Design: Both sides of hats are made					
	of breathable mesh panels					
	Lightweight & Packable: Rolled up					
	Washable & Quick-drying					
	Windproof & Waterproof: Hat is with adjusting					
	buckle and adjustable chin strap, and waterproof					
	material					
	Multiple Ways of Wearing: You can wear it as general					
	hat, windproof hat, neck protection hat, all round					
	protection hat					
	Size: One Size					
	Material: Nylon					
	Pattern: Solid					
	Features: 3 in 1					
	Style: Bucket Hat					
	Color: Grey					
	BSWM and SWISA Logo: Printed (3cm x 3.5cm)					
25	Half-finger Ice Silk Sun Protection Arm Sleeves	2nd week of	35	pcs	400.00	14,000.00
23	with printed BSWM and SWISA logo	February	33	pcs	700.00	17,000.00
	Print Type: Submilation					
	Fingerless design					
	Quick-drying and breathable					

	Icy sunscreen					
	With Palm anti-skid					
	Material: Ice silk					
	Color: Dark Blue/ Black/ Grey					
	Weight: 50 g					
	Function: Sun protection					
	Size: One size fits all					
	BSWM Logo: Printed (3cm x 3.5cm)					
26	Round Neck T-Shirt	2nd week of February	300	pcs	400.00	120,000.00
	Print Type: Silk Screen Printing	•				
	short sleeve					
	Based Color : Black , Side Color : Apple Green					
	XXL-25					
	XL-50					
	L-150					
	M-50					
	S-25					
	BSWM and SWISA Logo: Printed (3cm x 3.5cm)					
	Bulacan 060 Regular					
27	Customized T Shirt Product Description: Material: 100% Polyester birdeye knit Moisture wicking, for cool and dry feel Self fabric inside neck tape Double needle stitched sleeves and bottom hem Supported imprint methods: Vinyl print Size: S, M, L, XL, 2XL	2nd week of March	80	pcs	500.00	40,000.00
	TOTAL:					2,861,300.00

# **Annex A: Bid Securing Declaration Form**

[ shall be submitted with the Bid if bidder opts to provide this form of Bid Security]

REPUBLIC OF THE	PHILIPPINES)
CITY OF	) S.S

#### **BID SECURING DECLARATION**

**Project Identification No.: [Insert number]** 

To: [Insert name and address of the Procuring Entity]

I/We, the undersigned, declare that:

- 1. I/We understand that, according to your conditions, bids must be supported by a Bid Security, which may be in the form of a Bid Securing Declaration.
- 2. I/We shall furnish the required performance security within ten (10) calendar days in/ Case of receipt of Notice of Award (pursuant to GPPB Circular No. 04-2020 and GPPB Resolution No. 16-2020).
- 3. I/We accept that: (a) I/we will be automatically disqualified from bidding for any procurement contract with any procuring entity for a period of two (2) years upon receipt of your Blacklisting Order; and, (b) I/we will pay the applicable fine provided under Section 6 of the Guidelines on the Use of Bid Securing Declaration, within fifteen (15) days from receipt of the written demand by the procuring entity for the commission of acts resulting to the enforcement of the bid securing declaration under Sections 23.1(b), 34.2, 40.1 and 69.1, except 69.1(f),of the IRR of RA No. 9184; without prejudice to other legal action the government may undertake.
- 4. I/We understand that this Bid Securing Declaration shall cease to be valid on the following circumstances:
- a. Upon expiration of the bid validity period, or any extension thereof pursuant to your request;
- b. I am/we are declared ineligible or post-disqualified upon receipt of your notice to such effect, and (i) I/we failed to timely file a request for reconsideration or (ii) I/we filed a waiver to avail of said right; and
- c. I am/we are declared the bidder with the Lowest Calculated Responsive Bid, and I/we have furnished the performance security and signed the Contract.

IN WITNESS WHEREOF, I/We have hereunto set my/our hand/s this \_\_\_\_\_\_day of [month] [year] at [place of execution].

[Insert NAME OF BIDDER OR ITS AUTHORIZED REPRESENTATIVE]

[Insert signatory's legal capacity]

Affiant

#### [Jurat]